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Directions to candidates:

* All questions are to be attempted.

* Marks may be deducted for careless or badly arranged work

*  All necessary working must be shown in every question.

* The answers to Section I are to be circled on the question paper

* The answers to Section I are to be written on the question paper in the space provided.

*  Approved calculators and rulers are required.
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SECTION I - Circle the correct answer 10 xiM

1)

2)

3)

4)

5)

6)

7)

8)

Which of the following numbers are rational? L,
'\/?6-, 3; '\/Es 7, "23 -]i_l.
3

A) V35,3 -2 (B 3 7, -2,]—3!(0) 52 (D; J36.3 -2 1—31

V24 = |
@) 1246 (B) 443 (©) 46 (D) 62

Fully simplify 2v3 -7/3 +4/3

‘(B -#3 @ I (© VE-IE D) -5VI4T

Pl -t

Fully simplify 3v2 ++/8

[NENE] ®) 7v7 ©) 3470 ®) 4410

Consider the following étatements fora>0andb> 0:
L a+b=+a+Jb v
IL. Vaxp= Vax \/E)-

Which statéthént is always true? .

(A) Ionly (B) I only

(C) BothIandII (D) Neither I nor It

If 542 =[x, find . -
(A) x= 10 #BY'x =50
(©) x=20 D) x = 200

Arrange in ascending order: 25 , Ji6 ,«/}5

&) 25,416,419 B) V16419, 245
(C) 245,419,416 . (D) V19416, 2V5
" | B e ,
Rationalise Te1 ahd express your answer in its simplest form. y
i V6
(A) Tl B) >
e VB 1 (/6+1)
©. 5 ®) 6 -D(6+1)



9)

10)

‘Use your calculator to evaluate f 7z conrect to 2 decimal places.

Ay 02 T(®) 652 () 102 ©) {36

If (a4 N ¥ = m o+ 642 , where a and jn are integers, then which of the following is true?

(A) a=3,m=9 BYa=3m=1l
©C) a=6m=36 D)ya=6m=38

SECTION II - Show your working on the space provided

11}

12)

13)

Simplify
i J50+75 2M v @+3/5)3-243)
i, 228437 -5/63 | 2M Vi (6+5)(6=+5) |
i, 2WIxW2x3 ™M vii, (442 37

J8xs | 2M

20 | | vii, (V5-1)°

—_n -

Exprésg 3+/3 as an entire surd.

Find b if V12++/3=Vb | -’

M

2M

2M

2M

IM

M



14) If ¢=3v2 find &’ in exact form. - ﬂ_

|
£
i
!

[}

15) Rationalise the denominator and simplify where necessary:
2 .. '
1 —— ' Ilo
Jio - '
T . - b T . 2 42
16) Simplify leaving your answer with a rational denominator; :7_5 + 5 =
! S
1
17) Rationalise the denominator of —= and simplify.
N plify.

18)  Simplify (5 ~1)* (5 +1)* =
19) ‘S'ho;f’that L 1 isarational number
2W11-1 2411+1 '

R P

3M
2M

3M



20)

v, i3

2 X

_ NOT TO SCALE
Consider the diagram above. What is the value of x?7
Hint: You may need Pythagoras* Theorem fo find the height of the triangle.

'BONUS QUESTION

21) i, Show (JH—-I-)2 = x* +2-{—i2
. A A x?

i Ifx=v3-J2 fnd: . - -

1
a. X+—
x

* Note: Ensure your answer has a rational denominator if required.
' 1
)

b. X+
: x
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